ITEM NO : 191B1468-1#

ASSEMBLY INSTRUCTION

QUEEN BED

(1/4) QUEEN HEADBOARD

(2/4) QUEEN FOOTBOARD & SLATS
(3/4) EASTERN KING /QUEEN SIDE RAILS
(4/4) QUEEN/KING HEADBOARD POSTS

PART LIST

1 Q HEADBOARD PANEL | 1PC
2 H HEADBOARD LSF -
3 H ggg?BOARD RSF P
4 / HEADBOARD CROSS | 1 e
5 | PCYA] |Foomsoaro 1PC
6 ﬁ i ll:&?IPOARD TP | 5pcs
7 | apap [FOOTEOARDBUN | zpcs
8 % SIDE RAIL 2PCS
9 / SLAT 4PCS
10 | «—= |SUPPORTLEG 4PCS

HARDWARE LIST IN-1Q

A = ALLENKEY 5/16" 1PC
B % BOLT 5/16"x1-3/4" 10 PCS
c @®  |SPRING WASHER 516" |10 PCS
D ©® [FaTwasHER 56 10 PCS
E | "y, |BOLT 5/16"x3-14" 8PCS
F @ "C" WASHER 5/16" 8PCS
G @ [HEXNUT 516" 8PCS
H | == [wWRENCH 13x90MM 1PC

| $womo>  |WOOD SCREW #8 x 32MM | 8 PCS

10F 2




ASSEMBLY INSTRUCTION
QUEEN BED
(1/4) QUEEN HEADBOARD
(2/4) QUEEN FOOTBOARD & SLATS
(3/4) EASTERN KING /QUEEN SIDE RAILS
(4/4) QUEEN/KING HEADBOARD POSTS

STEP 1 STEP 2

STEP 3 STEP 4

2
4
8
8 D
6 9
7= N % i
9

10 K

NOTE: Fasten the bolts after alignment for the bottom line

of the footboard to the side rails. e Assembly completed

—
Leveller

A e  Foritems use on wooden floor hard surfaces or carpets. It is recommended to install protective

pads under all legs and supports to avoid/prevent from damages/scratches and discoloration.

° Hardware may loosen over time. Periodically check to make sure all connections are tight.
Re-tight if necessary. Sep., 2023

20F 2 MADE IN VIETNAM




	AI-1468 Queen Bed 20230918_Page_1
	AI-1468 Queen Bed 20230918_Page_2

